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Supplemental First Order Problems

Homogeneous

C2xyy — 1yt + 22 =0 ANS: 22 4+ = cx
cxy = (z+y) ANS: y=(In(z) +¢)x

y/:$_y ANS: y? + 22y — 22 =¢
r+y

. wzy’ = y2 +zy + z2 ANS: y = tan(In(z) + o)z

Yy =——5— ANS: y* = ca® — 2*
rY
2, ,2
Yy = Tty ANS: % = 2% In(2?) + ca?
Ty

Substitution

/

Y =(y—x)? setv=y—=z ANS: —In(y—z—1)+In(y—z+1)+2zx=c

Ly =tan(z+y)—1 setv=xz+y ANS: z —In(sin(z+y)) =c¢

;y—x+1

P— setv=y—=x ANS:—m+1/2(y—m)2+2y:c

Bernoulli

Y oy =ay ANS: 2 —1— e e=0
Yy +ay =y ANS:y 1 —1—cx=0

Yy +y=ay ! ANS: > +1/2—x—e 2% =0

3 2
oy = ;y = :n4y1/3 ANS: y2/3 = cx? + §$5

Exact

C2xydr+ (1423 dy =0 ANS: 2%y +y=c

2
. (z+sin(y)) dx + (xcos(y) —2y)dy =0 ANS:w—+xsiny—y2:c
2

(g4 22y de + (14 322> + ) dy =0 ANS: zy + 2% +y =c



